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TR TITEE KE-EESHAR

% # A - BTk B Y B B ff & B m =
EENER 6,049, 515
A 726,530 x 92.9% — 4,461 670, 485
AEEEE 6,049, 515 + 670, 485 6, 720, 000
B8 TS 6, 720, 000
HERERLE 6,720,000 x 10.00% 672, 000
REXHE 6,720,000 + 672, 000 7,392, 000




BERRE

TITEE KE-EESHAR

% R B - BIKTiE B 2 fif & # m =

EENEE 6,049,515
KRB RE R 6,049,515
KE - EERE 6,049,515
KE - EEHE 6,042,415
KE - EE SR 6,042,415
1 FFE g mE 1.00 281,772 281,172

=
2 HHLE RIBE 1.00 431, 658 431, 658

=
3 DHTEER 1.00 5,322, 985 5,322,985

=
EEEE 7,100
LS 7,100
4 EBREM 1.00 7,100 7,100

=




RER-FET/Svr—>

FMTEE KE-EEHSHHR

51
2% SENER MF 1K%Y
% L g - BIRTE BT 2 B O{f | = i &
Bl H A
A 6.00 41,100. 00 246, 600
REE S4 kY 2
=] 6.00 6, 862. 00 41,172/6.00H / 8H
& H 1E%8EH 1,00 287,772.00 287,712
&5 .2
%5 HELER RIBE 1KLY
2 5 B - BIKTE B = B i %8 W E " =
plR=g5 30T
A 9.00 41, 100. 00 369, 900
REE 54 kN2 2L
H 9.00 6, 862. 00 61, 758/6.00H / 8H
& H 1E%8EH : 1.00=C 431, 658. 00 431, 658
&5 :3
¥ HHEHER 1X&Y
2 b R - KT BT = B O{f ] W = H &=
HHTEER
= 1.00 5,322, 985.00 5,322,985
& it 1EZ8ER : 1.00 5,322, 985.00 5,322,985
BE5:4
&% EBHER 1X&Y
2 b R - KT BT = B O{f ] W = H &=
EXBBRERERE
=® 1.00 7,100. 00 7,100
& Hi 1EZRERH 1,00 7,100. 00 7,100




TITEE KE-EESHAR
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KA FRRE - Rk

—_
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Hfz* SHTEE KE- EEHHRR

BEERES 1
BiRAT : XEE S b/ 2 1E24Y 6.00H / 8H
% # A& - ARk B B & C & @ I %
AU
L 20.00 163.00 3,260
BE (54 FAVIAVIDIVIOL - —hh REEASE HRE2 0L
BRE)) B 6.00 281.00 1,722 BHREHR
BE (54 FAVIAYVIDIVIOL - REEASE HRE2 0L
BRT1)) = 1.19 1. 580. 00 1,880 il
& & 6. 862




